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Answer EIGHT questions only. Question number TEN carries 16 marks but this is not compulsory.
All other questions carry 12 marks each.
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Q.1 Attempt any three 4 each
a) Give examples of insurable property under CAR policy.
b) Give an outline of site activities in civil construction work and state role
of Principal therein.
©) What is relevance of works contract in insurance & risk assessment?
d) Briefly state basis of "loss Settlement in CAR Policy”
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Q.2 Mention the following for Deterioration of stock (other than potatoes) policy. 6 each
a) Underwriting considerations
b) Principal exclusions
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Q.3. Indemnity period, time exclusion and standing charges are very important concepts in 12

machinery loss of profits policy" Explain this statement.
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Q.-4. Describe the methods of computation of loss followed by surveyors for a claim under 12

Machinery loss of profit policy.

75 T @ suE % 3w fafen) T 6
FoNeR ITTer SUeh0T ST oF Taef ¥
T) i TfiT 3R T & v 3 W T Hew W fefe
&) Ere 3 (EHTTNERy) ¥ HT A I GG 53 AN B A T A
T H AR 39 foer e fagarmor i
W) aEe gae # Oy Ry wE Suged €, 7 T fefe

Q.5. Attemptany 2 sub-questions 6 each
With reference to the Electronic Equipment Insurance.
a)  Describe the importance of the provisions regarding sum insured and condition
of average
b) " Sum insured in section 3 (increased cost of working) is developed by steps"
comment on this statement.
c)  Whatisrelevance of "Technical survey.
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Q.6. Explain how the following approach helps in proper underwriting of Machinery Insurance 4 each
a)  Classification of machinery for rating purpose.
b)  Inspection ofrisk

¢) Imposinganexcess.
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Q.7. Answer any three of the following 4 each
a) What are the important contents of "Escalation Endorsement" under Project
insurance policies.
b) In respect of thermal power station project insurance, give the definition of
"TestRun".
©) Mention common hazards in respect of Internal combustion engine.
d) Classify refrigeration applications into broad categories.
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Q.8. Compare & contrast between Marine Cum Erection policy and separate Marine and 12
EAR policies
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Q.9. List out main hazards relating to Conventional power Plant during 6 each
a) Construction b) Operation
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Q.10. Enumerate the following features of CAR policy 16

a)  Sum insured and under insurance
b)  Supplementary Covers
¢) BasicofIndemnification
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